
Exercise 110A - Mass Spec - Halogens
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The following mass spectra are those of four molecules, each of which has a different 
halogen atom.  All have strong molecular ions.  Match the spectrum to the halogen.

M and M+2 peaks of equal 
intensity indicate the 
presence of a single 
bromine atom.

There is a single molecular ion 
indicate that there is no Cl or 
Br.  The peak at 127 is the I+ 
peak.
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A 3:1 intensity ratio of 
the M and M+2 peaks 
indicate a single Cl atom.

None of the above allows us to identify this 
one as being the F containing compound.  
Otherwise, there is nothing to tell you that 
there is F in this molecule.


